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Activity Overview
This activity will give students a series of cardioids to discover a pattern of the graphs of
cardioids.

Teacher Preparation

This lesson can be used as an introduction to cardioids and the concept does not need to be
introduced beforehand. The concept of polar equations and polar graphs should be discussed
prior to this lesson.

Classroom Management
This activity could be teacher led or done independently by the students.

Applications
Graphs & Geometry, Notes

Step by Step Instructions
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2) This is what the graph looks like with out e s [ ran suto rear B
the entry line. For a better view of the graph, 715 |y

the equation needs to be moved. To select the {ﬂ
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Graph in polar mode: r=2-2cos(8)




4) Another option to seeing coordinates (in

rectangular form) of this graph is to press
POINTS AND LINES and POINT ON. Move

the cursor to the graph and to place a
point on the graph. Press Select the
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point by putting the cursor on the point and T e 2
press @ and to actually grab the
point. Use the arrow keys to move the point on
the graph.
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graphs’
What can you conclude from these
graphs?
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Graph in polar mode: r=2+2sin(8) S
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Graph in polar mode: r=2-2sin(8) E
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Graph in polar mode:
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10) Again, a reminder to the students that they

need to also complete the student worksheet.
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What are the intercepts for each of the
graphs?

What can you conclude from these
graphs?
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